TNPSC Answer Key PDF Download: https://wp.me/p7JanY-840

Tnpsc Group 2 Exam 2018
General Studies Answer Key By Winmeen

TNPSC Answer Key PDF Download: https://wp.me/p7JanY-840

101. The Portuguese Sailor who reached Calicut in 1498 A.D. was?

a. Do Almeida b. Vasco da Gama

c. Robert Clive d. Albuguerque

1498 LD Y6001(H HeTeMGCHTLmL6mI ML [hg CUMTTHSHISHIW LOTeILO wimy?

Sl 19 SIELGIDWIL T 3. UTEVCHITLSTLOT

@. UL Slemerey F. {6LLSITS

102. On behalf of the Justice Party, who won and formed the ministry in 1923 election?

a. T.N. Sivagnanam Pillai b. P. Thiyagaraja Chettiyar

c. T.M. Nair d. M.C. Raja

1923 gyId QY601 HemL UMM CHTH0L FHGHL A Fmjunsd Qeumm CQUHM L Hemi
SI6MLDG 6T WIT?

3. T.N. &leUEhmeord LNeremern Q). P. SWIMSHITEY QFLIq.ulmy

@. TM. By FF. M.C. JTQMm

103. Find the area of the iron sheet required to prepare a cone 24 cm high with base radius 7 cm
a. 704 cm’ b. 702 cm? ¢. 700 cm? d. 668 cm’

24 Q&8 2w SiIqlLSEs i 7 Q&8 QETEL Falbly SHWMHEs C&eneuume

@(BLY SSL1q.60T LIJLIL| SHT6I0IS.

a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?
104. The sum of the series 31 +33 + ...+ 53 is
a. 729 h. 341 c. 504 d. 604

31+33+....+53 6T60IM QHMLIfl6tT Fo(hGH6D 6T60T60T?

a. 729 b. 341 c. 504 d. 604

105. Which of the following programme aims at the promotion of savings among

rural women?

a. Jawahar Rozgar Yojana b. Pradhanmantri Mahila Yojana

c. Rashtriya Mahila Kosh d. Mahila Samridhi
L6dTex (I usTTeUMMYET 6THSIL_L LD Spmoliym w&efflsst CaLllmU 2a165@GelIUSDHSTS
UMD SHLILIL L &)?

3. geauamij Crry sy GuimeheorT &) UpsmeanbSif wéemm Guimgestm
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@. greol Fw wéetm Cameo FF. o&lemrm g

106. Which of the following policy brings 5 lakh acres under organic farming?
a. Shrama Prasad Mukherji Rurban Mission

b. Pramaparagat Krishi Vikas Yojana

c. Pradhan Mantri Krishi Sichai Yojana

d. PM Fasal Bima Yojana

S 2 6o 615QBMETENS 5 VL FLD 665 HevmiGsner Quimens Geuenmeioeniouiles SHLp
Qamei(h 6(HeUSI?

Sl eQUIMDT UFFTs (D&Y epijuen Lhlawesr

o). UFLTUTSS sSflad allsmeav Cuim®erm

Q. uggmerwhHf sflad egderomil Guimgeorr

. .6Th.umgeL om Guimgeorm

107. Who was the founder of the Thiruchenkodu Ashram?

a. E.V. Ramasamy Naicker b. Rajaji

c. Gandhiji d. C.N. Annadurai
HmEQFRICHETH YATLGHmG BmeNIel] ulmy?

Sl F.Geu.pmngmd HTu&sS) o). prRmrd

@. sMhH [T. &).6T60T. SI6UUI6VUITE|6]

108. Annamalai University was started in the year
a. 1915 b. 1929 c. 1921 d. 1945

SIGTUETIMLOEMEY LILSMPSSHLPSHD Y DINSGSHLILLL ) 6501(H

a. 1915 b. 1929 c. 1921 d. 1945

109. At what rate of interest compound interest per annum will Rs.640 amount to

Rs.774.40 in 2 years

a. 8% b. 9% c. 10% d. 11%

60I(h Fal (b eULIquNed 61631601 FHABHAMSG €IH.640 681%H QU6ti(h 3 6601(h SerNleL
€lb.774.40 S4,GLD?

a. 8% b. 9% c. 10% d. 11%

110. A circus tent is cylindrical to a height of 3 m and conical above it. if the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent

a. 315 mm? b. 3097.5 mm? C. 2782.5 mm? d. 2997.5 rm?
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@(h FJ5H&NV Fal MILOMeTG 3 W o wigpsten o (henenuierig) &eldl
SIEOHGTHCLITEIM 6)1q UG FEVIETONGI. SHGH6TT SqLILISS QYLD 52,58, FaldLN6HT &FTUWIfLD

53 L 61607160, 9I&HFaLMID SND&HSHSH CHEMOUITETT HGHSHT60T Flevwnuiledr LIFLenLS

&0055 (h'S.

a. 315 mm? b. 3097.5 tm? C. 2782.5 mm? d. 2997.5 mm?
111. NREGA gives guaranteed employment for

a. 50 days b. 100 days c. 150 days d. 200 days

CaHlw 2a1s Ceuemev eUMLILILSHLL LD GCousmev 2 HHTUTHLD SeMHGLD HTL Serileot
6TEUUT6UIN &60)8

Sl 50 [HITLG6I 3. 100 BTL&GET @) 150 [HITL_&6IT FF. 200 [BITL_ &6

112. The concept of Goods and Service Tax (GST) was originated from

a. Canada b. USA c. Britain d. Germany
QumTpeT WOHMID CFmeualf] 6T6TLG 6THBMLIG60 CHTETMHILIGI?

Sl S6OTLIT 3. SQWf&Es BEHW BHTH
@. L edr FF. Q@i

113. Humboldt ocean current is otherwise known as

a. Kuroshio current b. Oyashio current

c. Peru current d. Florida current

amGurel. HCHMLLLD @eueurmrsead HHWILGEDSEI

3. @Grmawim FCrTLLLD &), @uredCuimr FCHMLLLD
8. Qu@p HCyTLLLD k. uGenmiflm HCymLL LD
114. ‘Sea smoke’ is common in

a. Equatorial region b. Desert region

c. Atlantic ocean d. Arctic region

‘BL6L L0& FMSMJEUIONS SrevuiLiLi(heus)

ol ywsHHu Crend UGs &) umemeveusst LNTCHELD

8. sieomeinigd GUIITLH FF. 347196 LG

115. When was the “Industrial finance Corporation of India” established in India?

a. January 1, 1950 b. July 1, 1948

c. June 5, 1951 d. May 1, 1950

‘QhHw QML HHEsRsLD QHHWTaNeL UL JHUGSSUILL L GI?
Sl gevreurfl 1,1950 ). TO6M6L 1, 1948

Q). g96dT 5, 1951 F. GO 1, 1950

www.winmeen.com Page 3 of 21




TNPSC Answer Key PDF Download: https://wp.me/p7JanY-840

116. Which is the biggest nationalized enterprise?

a. Bharat Sanchar Nigam Limited

b. Indian Post Department

c. Indian Railways

d. Oil and Natural Gas Commission

BsUQUlwW QUTHISSIeND HIMICUETILD 6T5I?

. 191.6T610.6T60T.6T6V(BSNL)

% @B SEHFD GIOM

8. @nHw @ruilLGeu Glewm

IF. 6T6uuel6uoril eTifleumu Him)esorLd

117. India’s first bio-fuel flight was operated between

a. Dehradun to Delhi b. Dehradun to Mumbai
c. Dehradun to Kolkata d. Dehradun to Chennai

@ueHwimesst (LpGHeL 2 uNfl-eTfQUThHeT elwmerd Qeuall( BHSJhSEhHSHnL Gl

QUISSLILILL ).
3l. CLpm@B6r - QL_6L6V 9. GLpm(esr - (pLbemu
@. CLom@6tr - QBTEL&ESH ST . GLpm@®Betr - ClgesTement

118. In which of the following states, more number of people were affected by 2018 monsoon?
a. Kerala b. Assam c. Andhra Pradesh d. Megalaya

&Lp 2 6imen 6TOLOMHELSHHEL 2018 LI[H6U LOEDLPUIN6EITTEL SG DS
UTHLUNMHG6TeNTSH6ory?

3. Cayerm 8. SIEMD 8. hHIINICHELD iF. GLO&meowm
119. A preparation of living (or) killed micro-organism (or) viruses used in

prevention of diseases through immunization is called

a. Toxoid b. Vaccine c. Viremia d. Anti-toxin

o uN@mean (S) 2 uNgHm HIeToTewENLl 2 UNFETRISET () snEUTVEENET HLD 2 L 60lsnI6N
QEIHH BLO&E 6THILL FoHSlMI 2 (HeUTHGUSDE 61601681 GILILIT?

ol Lm&smu(y 2. SGUY S @. eNfldwr [F. 61S\J-H&&

120. The source of energy in any eco system are

a. Osmotrophs b. Autotrophs

c. Lithotrophs d. Heterotrophs

& LpHlemeouniedsst g,MMEOIET (PSS QY STTLD

Sl. SL6rVGLDIT LDEBITL 6VLD 9. L CLIT LDEBITL VLD
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@). ep6l LOEYIIL6VLD IF. QeuelGaiml LD6GUTL_6VLD

121. The Acid Rain destroys the vegetation, because it contains

a. Nitrates b. Ozone

c. Carbon monoxide d. Sulphuric acid

SIHleL LOMLPUIMTETE| HEMETHH STAUTHMSUILD SNGGSD HeoTenIDU]eMLUIG]| 6T6ufleL
SIFL SILMIG 2 6iTerTeme

Sl mpLCrL 3. 6GameoT

@. smjuet GLomeTSHama (b F. geolfl& ibleoLd

122. Which one is not part of the Panchayat Raj?

a. Smiti b. Village c. Township d. Zila Parishad
6ThS €R60TM)| LIEhEMLS TMRIISSHL @6Lem60?

Sl. F05) 3. SYmL

8. prsAwL [F. gleLeLI LIIFTS

123. Which part of the Indian Constitution deals with Fundamental Duties?

a. Part 11 b. Part 111 c.Part IV A d. Part vV

AHHW HFHLILMOLILTIL g LILIEDL & SHLEMDS6N 6THG LIGSHIUN6L
1SS SHSLILIL (H6ITeNg)?
Sl LML I &) UMSLD Il ®. uTsLD IV A F. UTSLD V

124. Six men working 10 hours a day can do a piece of work in 24 days. In how many days will 9
men working for 8 hours a day do the same work?
a. 10 days b. 15 days c. 20 days d. 25 days

6 QE0UIH6T 62(1h Geuemeveml HITCaMTETMISHEG 10 6w ChHILD Gouemew QFUIG| 24
BTL&afled (WDIgLLIJ. 9 4601%6T, HTCemmsimG@ 8 6w ChIL Couemen CFUISTeL
6T1&HSHEMEU BHITL_SH6TI6D H6UCEUMBVEMILI (LPLg LILIF?

Sl. 10 BITLG6I 8. 15 BT &6 8. 20 HITL&6IT [F. 25 [BITL_G6IT

125. A can finish a job in 20 days and B can complete it in 30 days. They work

together and finish the job. If Rs.600 is paid as wages, then the share of A and B
a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

A ¢tetTed] €2 Geusmevsmil 20 BHTL&eMeVId B sTeiTLoU] SICH Couemevemil 30
BIL&afend (L. Qeumd Caibhg Causnev QFIIg, SieuGaumevsml (Wlg&s
€l5.60083 HMIGET QU(HEUMLITSL QLIMMEDT) 6T6slleL A OMMILD B6OT LIMIEG 6T60T601?

9. 240, 360 &3 300, 300 @. 360, 240 rr. 400, 200

126. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value of x.
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a. 25 b. 24 c. 30 d. 26
18, 41, x, 36, 31, 24, 37, 35, 27, 36 Qeummiedr &ym&fl 31 6Teofled X 601 DKL 6T60T60T?
a. 25 b. 24 c.30 d. 26

127. Which one of the following is the correct composition of Brass?

a. Cu—50%; Sn — 50% b. Cu - 60%; Zn — 40%

C. Zn—70%; Sn — 30% d. Fe — 40%; Ni— 60%

&SI UMMIEL 1NGGHemenuiledt FHlLITeT 2 Ceoms&aHe06mauuUTlstT &&6NGLD 61601617
a. Cu — 50%; Sn — 50% b. Cu-60%:; Zn - 40%

C. Zn—70%; Sn — 30% d. Fe — 40%; Ni— 60%

128. What is phototropism?

a. movement of plants towards chemicals

b. movement of plants towards light

c. movement of plants towards soil

d. response of plants for day length

CUILGLMLmiMerold 6T63TMIT6L 6T60T63T?

3. QF&ailett Geudl GQumBeT CHTHAU QUISHSHLD

3. Qe seafler spafl CHTHEHW QuUISHSLD

@. Q&g sefern e CHTHHW QuUISEHLD

F. QFIq.56M6T @6l HTLGHGH El6ment

129. The institution of Lok-Ayukta was established first in the state of

a. Gujarat b. Maharashtra c. Rajasthan d. Kerala
Cooms-SILSHHT (PGHEIT (P&OGL 61HG LOMHELSHSHIL SEMDSSHLILILL §I?

3. GRS 3. LOSTT6IRIQ LD @). TRervSTe F. GayenT
130. Who said “The Directive Principle of State Policy is a Novel feature” of the
Indian constitution?

a. K.T. Shah b. B.R. Ambedkar

c. Aladi Krishnaswamy Ayyar d. B.N. Rao

AhIH r&leoambliNed “oifs UNSTL (G CQBMI(mME CSHMETend 621 2 60T63TSHLOT6TT

LIGTOIL]" 6T60TM)] SorMIULIG] UIM(]?

3. KT.eom ). B.R. SIDCUSS)
@). o6e0lq H(HEEIIFTLA LI [F. B.N. [JTey
131. The value of 221% |

3
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2 4 16 32
93x18% . .

316 6or LD,&;]ULI

2 4 16 32

132. The cube root of 0.027 is
a. 3 b. 0.003 c. 0.03 d. 0.3
(0.027) 601 63T €LHGVLD

a. 3 b. 0.003 c. 0.03 d. 0.3

133. 1Femtoisequalto _ m

a. 10° b. 10" c. 10° d. 10°

1 QubGLm (Femto) = 1BLL;

a. 10° b. 10" c. 10° d. 10°

134. What is the value of gravitational field at the centre of the sphere?

a. zero b. % C. % d. _TGZM

Gamenll Leimerll smwwiGHHed LeNuijliy LevsSHeot S WITg)?

M GM -GM
a.0 b. — c. — d. =
G r r

135. Which of the following is sensitive to ultrasonic waves?

a. Man b. Bat c. Bird d. Fish

Caenim ¢pe0l6nll 2 GUUI(HLD H60T6MLD WIM(HSHE 2 6T6NGI?

Sl. 6vflG6oT 3. Qeueareumsv 8. umen6N 7. 86t

136. Complete the series 1 ZA, 3 YB, 6 XC, 10 WD, ?

a. 14 VE b. 15 UE c. 12 VE d. 15 VE
1ZA,3YB, 6 XC, 10 WD, ? ¢T6dTm euflen&emwl HIyLLs.

a. 14 VE b. 15 UE c. 12 VE d. 15 VE
137. The product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the
number is

a. 320 b. 1605 c. 1595 d. 8000

Q@ er6nSHe6T QLHSSHD QFHTENS 1600 HMID Meuserlesr L5.CQUMT.6al. 5 6T6ufled
sT6vm&6eMetT LE.&).L0. S4B LD.

a. 320 b. 1605 c. 1595 d. 8000

138. Which congress conference was attended by Bharatiyar?
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a. Surat Conference b. Madras Conference
c. Bombay conference d. Lucknow conference
6TH& STHRIFTEV LOMBTL 160 LITTHIIMTT &HevbHG C&TeuLTj?
3. &5 wrHTlH 3. Clgeotement LOMHT(H
@. uwumd wreTEH F. 60&GeoTT LMHIT(H

139. Who extended co-operation to Puli Tevar?

a. The French b. The English

c. The Portuguese d. The Dutch
LeOSCHAUBES pBT6 QSTHSHeUTST Wm)?

3. VA EhH &SI &6 3. S RIECEOUITS6IT
@. Cumya&EaWITS6N F. LEGSSMITEHET

140. Golden Handshake Scheme is associated with
a. Establishing joint enterprise

b. Inviting foreign companies

c. Private investment in public enterprises

d. Voluntary retirement

ShG MHGNGGWD HL LD QHmIL 60T QST [JLEOL LI

Sl Fal (B HMIQIGTRIGEET 2 (H6UTEHEGSH60

&) QeuefprL (B HmieUeTRIGmaT LSS 6L

8. s Hmieuemugefed Gefwimy (W&HeSH

FF.eli@pLIL splile)]

141. Which of the following scheme has the objective to skill 1 crore youth in the next
three years?

a. Start up, stand up

b. PM Kaushal Vikas Yojana

c. MNREGA
d. Deen Dayal Upadhyaay Grameen Kaushalya Yojana

MNesTeu@GLd 61HS HLLLD ABHSHS cpsim uewi(h&HeNed e Caimg QemernepjHeailer Slmeor
CUMLIgMS&TES 2 (HeUTHSLILILL &?

Sl ULMIL LI, ervL_M6ToI oLl

o). LeTd.Q&6ema6L allsmev Guimg et

@). 61LD.6T601.94,17.8). 8061

F. SetTGHWImem 2 LmGWImil Smblett Qgemagedwl Guimgeor
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142. Who converted Mahendra VVarma | from Jainism to Saivism?

a. Sambandar b. Appar c. Sundarar d. Perundevar

WD LCHHEHTEUTLOENET MRETT GHSHHO([HHS M&F6eU HSHSHMEG LOMMHOILIEU]T WIT?
Sl FLOULSIT 3. LUy 8. &hH&Iy F. QuUBHCHeUT

143. Name the chieftain who patronized Kabilar

a. Ay b. Adhiyan c. Pari d. Anji

sLleven] Y H5fGHGH Curmdiw Hmrs) Cuwenrs GMOILNGHS.

Sl Sl 3. SISledt 8. umf IT. SiEh&

144. In how many years will a sum of Rs.1,600 amount to Rs.1,852.20 at 5% per annum compound
interest?

a.3 b. 4 c.5 d. 6

. 1,600 Y60T&H 5% YPWI(H Fal (B QUlly eHLD Qsman 618G oy, 661(H&6MN60 Cb.
1,852.20 &HEOLSHGLD.

a.3 b. 4 c.5 d.6

145. Simplify
&(H5G5.

(-3)-a=(Ex)+8-[5-1-11
3 3 7 2 4

a. 22 b. -5 c. 50 d. 222
60 60 60 60

146. Which among the following industries generates invisible exports?

a. Fishing b. Tourism c. Jewellery d. Handicrafts

LNesTeu(B eueTTEUMMIET LeVLILIL TS gJOmISlenul CHTHmIONLILIS)

1. ey QS mLHeL 3. &GHMIEOT &l6HM

8. guiewr QHTLHeL F. 60&e606TL CQUIT(H L &H61T

147. Which of the following agricultural commodity of India gives largest interms of export value?
a. Tea b. Basmathi Rice c. Spices d. Cotton

NedTeu(pLd 6TeUGeU6MTETTIEND 2 MHLGEH QHHUWITONGT HNHSLOMET JOMILDG LDSLI6mL

SGEDEI?

3. Caullemev o). umerongl il
. BMILDEST CLPLLq SHelT F. UGS

148. Name the place where the Rive Ganga and Yamuna joins?

a. Allahabad b. Hyderabad

c. Delhi d. Agra
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ShieNd YMID, WM HMID FHHSG QL SH6dT CILILIYT 6T6oT601?

3. ALBMTUTH 3. MADSITLITS
@. QL6vedl [T Q40T

149. Name the dam constructed across the River Sutlej

a. Hirakud dam b. Bakra Nangal Dam
c. Kosi dam d. Mettur dam

FLevg mMiesT GMIGGCSH SL L LILL (BeTen ieneuruiest GILILIYT 6T6oT6or?
3. aMNpTGL 6m6w01 3. USJM-[HRIGEV 606601
@). Cars giemeur F. GL BT 606001

150. In which year Madras Mahajana Sabha was started?

a. 1881 b. 1882 c. 1883 d. 1884
61HS Y6(H CF6sTen6en LDSTR6N Fenll CHTOHMIONSSLILILL G)?
a. 1881 b. 1882 c. 1883 d. 1884

151. As per 2011 census the total urban population in the state of Tamil Nadu is

a. 27.48 million b. 34.95 million

C. 36.04 million d. 42.50 million

2011 LD&:&6N QBTG SHenuis6HHULN6LYG. SLODPBHTL 60 BEILD LDSHET CIHTns
Sl. 27.48 LHIGLEOILLIETT 9. 34.95 LHI6LEOIWLIGHT

@). 36.04 LOIGLEOILIETT [F. 42.50 LOI6LEOILIGOT
152. Which district of Tamil Nadu produces the highest output of food grains?
a. Villupuram b. Cuddalore

c. Thanjavur d. Nagapattinam

SLOIDBTL 1960 6THG LOMEOULL HH6L 2 6u016Y SEoNIMIGET S SHOMS 2 MHUSSEITHMDE?

. ell(puymLd S HLQYI 8. HErETaLl FF. [HITSLILIL Lq.60TLD
153. In which city the first Nepal — India “Think Tank Summit” was held?

a. New Delhi b. Kathmandu c. Dehradun d. Kolkata
IHBSIHHL (LPGHL Chumer @QBEWIT “Think Tank OMHTE” HeOL CQLDMHSI?

Sl. Lgliq.6060! 3. HTHLO6(H &. CLym(@eor F. QBMELES ST
154. The campaign to create awareness among children to identify sexual abuse is

a. Safety is in your hands b. Our safety, our rights

c. Save child, save future d. Child safety in police hand
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LITeOl6sT HIHTLMISHEMED SIeMLILITEND SHMewT GLohengseaflenL Gul eNLfILIL|esuTe] eJmLIL

Cum@smememuUL L. &Sy

Sl. UMGISMLIL 2 65T 6m&HUT6L

Q). LD UMTGISTLLY HLD 2 flemLo

8. GLHMS LUTHSTLUL THIHTEL LITHISHTLIL

F. GHEMG UMTHISTLUL STULHIMM M&HUT6L

155. Match :
Tribe

A. Masai

B. Saami

C. Kalinga
D. Bush men

b.
C.
d. 4

QUIT(H S §15.
LILOMRIG!q ulleoriy

A
a. 2
2
1

w o P

A. LD&TUI
B. &mLhl

C. $60IRIGIT

Region

1. Angola

2. Kenya

3. Philippines
4. Siberia

C D

3
3
3
2

- > P

NyCH&LD
1. SRIGCSHTELIT
2. Q&edTim

3. NedlLismuestery

D. Us§ weNGI&en 4. em&Slwim

A B C
a. 2 4
b 2 1
C. 1 2
d. 4 3

D

3 1
3 4
3 4
2 1

156. The members of the Central Administrative Tribunal are given status of Judges of High Court

from an Amendment in the year

a. 2003

b. 2004 c. 2005 d. 2006

&S SFuumu 2 MILNTISE@p5@ 2 WHBSI6TD BHUSHSSTET SihGHervg

QIRISILILL FUL HHHHD Comesmeremiiil L 660k
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a. 2003 b. 2004 c. 2005 d. 2006
157. What is the aim of Pradhan Mantri Gram Sadak Yojana?

a. Provide all weather road connectivity

b. Provide all weather to telecommunication connectivity

c. Provide food security in all seasons

d. Provide education to all people

“Ogs WHEF S FLTS CTReTT SHLL &1 CHTEHSHD (GMECHTE) 615I?

3. SAMATUBLD MG L(HeU STLMIGELSHGLD FMM6L EUFHGHMET MLDGHE 6L
9. QHMTemeL QHMLIIL UFHSEMET SIneuTHFH LI(H6U SHTVMIGEFHGLD JHL SI6MLDE 6D
8. SMETHG LI(H6U SHTLMISEHGGLD 2 60016 LUTHISMLIL C&FIISHED

F. 6T60CEUMHSHGLD Heval U gmUThH Q&S0

158. Given the Pie Chart. Obtain the pass percentage of student who passed in 1% class.

. Passed in First Class
Passed in Second Class - ?

Failed
Passed in Third Class

a. 35% b. 30% c. 10% d. 25%
Ans stafleul L eMeaésll LLSHO(BHE (PFHL UGLLY CHTEFH QUDHMEUTSHENE)

(&M 6T60T60r?

Passed in First Class
Passed in Second Class - '

Passed in Third Class

a. 35% b. 30% c. 10% d. 25%
159. In higher plants the saprophytic phase is formed after growth and development of the zygote.
Point out the type of cell division involved in this growth.

a. Mitosis b. Meiosis c. Amitosis d. Zygotic meiosis
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2 W eUMS Geunmiseilsst ervCUTCHTEMLL 198 Henew snFCHITL g 65T eueTEF&

LIMHMSSTEL 2 (HUTEMGI. 61HG eUend CFe0 Nifley Q&L QFWILLIHHME 6T6TLINS

&L 1 55ML_(H?
Sl. ML L merSlery o). lwimerdlero
@). ejemL_Lmerdlery F. 0n&GCHMLIq.8 LOlulmerderv

160. Kuhne’s tube can demonstrate the process of

a. Fermentation b. Germination of seeds

c. Growth of plants d. Aerobic respiration

G6oTerv GLOMLl 6Thg Hspeneu HLN&G@SLD?

3. QBT &S 6L 3. aleng (LPEm6rs 6L

@). smeuy euenj&H STHMIML U &EUTHHH6L

161. Which one of the following Parliamentary Committee is Semi-Judicial in nature?
a. Committee on Petitions b. Ethics Committee

c. Committee on Privileges d. Rules Committee

S&SHETIL. LTITELLOTNS G(H&SSaM6L 6HG @b G U BH uflumevsneet

& 60T6MLOLL|6OIL_UIGI?

. elevurenrliLg & (P & SAMABMIS &

8. Amuyflenwnd (1L m. aNHé G

162. The Constituent Assembly of India was set up according to the proposals of
a. The Cripps Mission b. The Cabinet Mission Plan
c. The Mountbatten Plan d. The Nehru Plan

Qs Sip&lwievsmioLiL] BIT6wIL Fenul WM(HenL W (LP6TCLDMLAON6T Silq LiLiemLuIleL

gOUBSHSLILLLGI?
Sl &fllery Lhlewest o). GaLlarL iager HLLLd
@). e e _GuL L 6T &L LD . Ch(@H SHILLLD

163. The principal amount triples itself at 8% per annum over a certain time. Find the number of
years

a. 20 years b. 25 years c. 30 years d. 35 years

@@ GOUILL &M g 8% Il lg eiH5HS6L 6155H6m60T o4,6001(H&HerleL eL6ITM)
DL RISTGLD 6T60T&H &HIT60015.

Sl 20 QUBLRIGET 3. 25 QUIHLMIGET @) 30 eU(HLMIGET [T. 35 6U(HLRIG6I

164. What number should be subtracted from each of the numbers 54, 71, 75 and 99 so that the
remainders may be proportional?
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a.l b. 2 c.3 d. 6

54, 71, 75 DOMILD 99 6T60TM 6R6UCIEUM(E, 6TEUIGIMIL GHILD 6THG 6TEHIENEMISH HLOSHHTEL 31601
B g0 aNE55H0 Q[HSGLD?

a.l b. 2 c.3 d. 6

165. What is the basic concept of Raman effect?

a. reflection b. incoherent scattering

c. coherent scattering d. refraction

grLest ellemers) 61hd HHHIUHMS SlqLILIDL WITHS C&TEHIIL G)?

3. Ny&luedlLiy o). @HFlevevr spaf&FHFHMeL
8. 55 al&famed F. 66 aleuge

166. The Epsom salt which is used as laxative is

a. MgSO; . 7TH,0O b. CaSO, . 2H,0

€. ZnSO4 . 7TH,0 d. CuSO, . 5H,0

LDEVLD QEMSGHILITE LILIGTLL &Ealqll 6TLUFLD 2 LIL] 6152

a. MgSO, . 7TH,0 b. CaSO, . 2H,0

C. ZnSOy4 . 7TH,0 d. CuSO, . 5H,0

167. Where was the first Indian National Congress met?

a. Delhi b. Bombay c. Calcutta d. Madras

W& QHH CHAW SHMTHRIGITerOesT Fal L LD 6THIG FolgllH?

3l GL6vL60 o). LML 8. &LESHT [F. Cl&6oT6m60T
168. The Forward Block Party was started by whom?

a. Subhash Chandra Bose b. Motilal Nehru

c. Rajaji d. Raja Ram Mohan Roy
surgeuy® Nenmmé &L wimymed QS TLRISLILILL §)?

3. &umerv FhSy Gumev o). Gmgleomev Gm(p

@. g FF. prem [mD GLOmSeor [Jmul
169. According to 2018 — 19 budget report, India is at third rank in

a. Purchasing Power Parity (PPP)

b. Gross Domestic Product (GDP)

c. Agricultural Production

d. Foreign Direct Investment (FDI)

2018-19 Hi& Hemev SiMGemSLI Lig LeTal(BLD eTeumMIeT @hEHWIT eLpesTDMLOIL &HeL

2 _6lT6rg)?

3. UMMIGLD HM6T FLohlen 6V 8. QrEs 2 MBI 2MuSS
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@). Geuenmesor 2 MLIGE . oibHw Chrg (W&eSH
170. Which currency is recently added in the currency basket of IMF?

a. Japanese Yen b. Chinese Yuan

c. Indian Rupee d. Brazalian Dollar

STHBIL (B BTN FLELIGHE IMF-65T BTGNS FasnLUNled CHIEHSLILLL §)?
Sl guumesiesr Qluiesr 9. OHFGTTEN6I 6T 63T

@. @hHw emumil F. NGCr&edwlsst Lmeoiy

171. Find the G.C.D.of a®— landa*- 1

aa’—-1 b.a+1 c.ai-1 d.a-1

a’- 1,a% 1leir BQUT.CU BMETIS.

a.a’— 1 b.a+1 c.a’— 1 d.a-1
172. What percent is 5 grams of 1 Kg?
a. 5% b. 1% c. 0.5% d. 0.2%

1 &CGeom SYMAME@G 5 HOMD % 616016012

a. 5% b. 1% c.0.5% d. 0.2%

173. Where was the first nuclear reactor of Asia established?
a. People’s Republic of China b. Japan
c. Taiwan d. India

S AL GHL (LPFHELMEUFH SITD| 2 6Mm6L 6ThIG HmIQIIUL L GI?

Sl W&HGET F6euld GlQUINE: 9. BLILITedT

@). engeumer FF. @b&Hwim
174. Who assumed the title “Chittrakara Puli?

a. Rajaraja | b. Narashima |

c. Mahendra Varman | d. Nandhi Varman

“S1&A&MILLEO” 6T60Tm) aNBG QUUIT L L LU L. LD6DT6T) Ulmj?

Sl (PG6LMLD [T NTER60T 3. (PGHEVMD HIFILDLO6DT

8. Wgeumbd LG H & [ eUITL 6T IF. [Bb&H6UTLOETT

175. Area of a square is % hectare. The diagonal of the square is

a. 250 metres b. 100 metres c. 50 V2 metres d. 50 metres

@R FHITHS6 LUTLLETE] ¥ 5B 6165160, FHTHHEH CLHMEVAILLID @G
oI, 250 LBLLy 3. 100 LB LIy @. 50V2 8L 50 BUL

176. The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in the ratio
a.27:75 b. 27 :125 c.81:625 d. 729 : 15625
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A Gamenmsaiest LMUUFLILOTeSET 9:25 61601M aN&GSHS6L 2 6fengl. SeumMe &eor

SleneyseflesT aN&gLd

a.27:75 b. 27 : 125 c.81:625 d. 729 : 15625

177. Black revolution is related to

a. Fish production b. Coal production

c. Crude oil production d. Mustard production

S(HenOL LT & @Q&snIL 66T CQHTL LML LIS

Sl stT 2 UGS 3. Hevssfl 2 MuGEH

8. s&5M erevuTQewanl 2 MHUSH . 5(hG 2musHH

178. Budget 2017 has proposed __as the front office for issuing passport in far flung areas.
a. Airport b. Telegraph office

c. Post office d. Railway station

2017 HiHHeneL SMN&HMBUNEL QBTN LIGHGaTed L FL(h aUPRGUSNS
(P&HMID SIQIVSONS HMNGSHLILILL & 618?

Sl. QN Hlémevwid 3. HHS SIQIVSLD

8. sumeL Hlemevwid [F. UeM&6U6uTlq. HlémeulLd

179. The facility announced for Senior Citizens in Budget 2017 — 2018 is
a. Aadhaar enabled smart card b. BHIM App

c. Shakti Kendras d. Pension Scheme

2017-2018 HGlHlemev SIMNSHMBUNCL (PSS GlqDEHEFHSHTEH SNNSGSHLILILL. 6UFH
3. SHTHL6HT QMEWISHSHLILLL. ULDMTTL HL6OL I L1.615.83.6TLD. ClFUIe0

@). §58) OLOWIMISEN IF. epliepdlul HL L LD

180. Who started Home Rule Movement in India?

a. Annie Besant b. Sathiya Moorthi

c. E.V. Ramasamy d. K. Kamaraj

QBTN G660 & QUISHEEHMG Y TLDLNGGH6U]T WIT?

3l. o6irerfl QLIF6sOTL 3. FHHW cPTHH
@. .. Quifluimy F. & .SMOJTE]
181. Tamil Books were printed firstly by whom?

a. Rev. Zieganbalg b. Rev. Schwartz

c. Rev. Grundler d. Robert De Nobili

(PSHET (PHEOTS SO LSHSHSHMIGHEneT FFL_L 6 wimy?
Sl FHETLIMLE KUy &) GeumyLery umrdflulmy
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Q). G(H6TOIL6L QUi FF. ULl 1g.GmhmLiled
182. Identify the mismatch.

a. White revolution - Milk

b. Green revolution - Food Grains

c. Blue revolution - Fish

d. Yellow revolution - Flowers

Feummen CQUT(EHHHMGHS &6ou(HLIllg &H&6LD.

a. GleuegoremLoLl Ly & - LImeL

b.LIGEMLD L|JL_& - 2 _600T6)| STEOFILILD

c. Bev yyL& - il

d. LDEH&6T LyL& - L, & &6l

183. National Agricultural Policy aims at a growth rate of % per year.

a. 3% b. 4% c. 6% d. 8%

Ca& Geuermeunr Q&TeTeMSIITETIS 4,6001(H %SG §56)5 eueajF&enwl

CorésLons Q&meui(heerns).

a. 3% b. 4% . 6% d. 8%

184. The crop which gets affected by pink ball worm is

a. Banana b. Wheat c. Mango d. Cotton
Qerepfleuli ubgl Lipeumed Umssuu@Ld Lufiy

Sl. UmemLD 3. Carglem @. om FF. W&
185. World’s first Block Chain Bond was launched by

a. Reserve Bank of India b. World Bank
¢. Hong Kong Bank d. State Bank of India

2 U6 (LPFH6L Block Chain LIGHTSHMG IMPSLILGSSI 6UMIS

3. @b HfEfeu eumIE 9. 2605 alhd

8. aMMRISTHRI 6URIS k. @hHw evCLL eumi&
186. Which of the following statements regarding soil are correct?

I. Soil is a dynamic natural element.

I1. It is composed of both mineral and organic matter.

I11. The characteristics of soils depend on parent rock.

IV. All the soils having a well developed soil profile

a. All are correct

b. I, Il and 1l are correct

c. I, Il and IV are correct
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d. I, Il and IV are correct

NesTeu(HLDd 6T GMIGHSHT6TT UTSEILIMIS6MN6D FIFILITETENEUSET 6TeM6U?

|LO6TOT LDTMILD S6oT6emLD QBTG QUIMen& ST6uon.

Il. @emeusHeT MGIGEHET LMMID QU DL GSHETTED 6066

. @emeuserlest LIGTIIL 2 (Heumenr LUTemmullenest QUTMISCSH eMLDHTME).

IV. SleMeuTH G| LOGTT QUMSBHEHLD aUaTTERWMLHS GSMIGG ol (b CHMHMGHMSHSH
QSIT6BUTLG. (I HGLD.

a. SEMEHHILD &G

b. I, Il LOMMID 11 LB &

cl, Il OMID v LLE &

d.l, Il LOHMID IV WLEGD &l

187. Metro Rail Service is available in

I. Chennai

I1. Coimbatore

[11. Trichy

IV. Madurai

a. lonly b. land IV c.land Il d. Iland Il

QLChm julled CHemeu eugH 2 6o GL LD

. Q& 60T6m6TT 1. GHMUILDLIS ST . SHEH IV. LD&I60]

3l | LG 8. | LG v @. 1 LLGW 1l FF. Il L @LW 1

188. Find the difference between simple interest and compound interest for a sum of Rs. 8,000 lent at
10% p.a. in 2 years.

a. Rs. 70 b. Rs. 80 c. Rs. 90 d. Rs. 100

€5.8,000 @& 10% QUL lg eIFHHHL Queini(h Y ENGHSaTNL HOLSGW Fal (h 6ULIq&GSLD,
5601l QUL IgHEGLD 2 616 NGHUTFSHMNES ST60015.

a. Rs. 70 b. Rs. 80 c. Rs. 90 d. Rs. 100

189. The national fruit which is common for Phillipines, Pakistan and India is

a. Banana b. Fig c. Mango d. Jack
MNedllemusarery, LUT&Heavgmss WOMID QnhHul Hreeane QuTgeurer CHEI LD
Sl. QUTEMLY 3. 355 Q. br [F. Lo

190. Match the following :
A. Ranthambore 1. Assam
B. Manas 2. Jharkhand
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C. Nagarjuna Sagar 3. Andhra

D. Palamala 4. Rajasthan
E. Indravathi 5. Chattisgarh
A B C D E
a. 4 1 3 2 5
b. 4 2 1 3 5
C. 1 4 3 5 2
d. 3 1 4 2 )
QUIT(H S §15.
A. DHSMLDLLT 1. QIEMLD
B. LDIT6OTITEIV 2. SQMIJG600TL

C. BITSMIEI°60T &S] 3. BT

D. UM6ULD6V 4. @mervg et

e @bSyTas 5. 888605
A B C D E

a. 4 1 3 2 5

b. 4 2 1 3 5

C. 1 4 3 5 2

d. 3 1 4 2 5
191. The idea of concurrent list was borrowed from
a. British Constitution b. Canadian Constitution

c. Irish Constitution d. Australian Constitution
QUITGIL UL U160 ¢TI SH(HSHGH CUMLILILL G

9l. QRIKELTHSET HTHUIVEDLOLINCO(BHEI

&) SETLTeN6T THIIEVEHLOLILNGONHH S

8. sugeonhEer FHeLsmLOLILNCONHHS)

FF. QhervSHCredlwmailer 21p&lwevenLoliiledl(hbHg)

192. In which year the Parliament enacted the Official Language Act?
a. 1955 b. 1965 c. 1963 d. 1957

61hd QIHLLD LIMJTEHLO6TMSHEHL Sigvaicd QMHEF &L b QuIHmULLL GI?

a. 1955 b. 1965 c. 1963 d. 1957

193, 1f2*2 — % = ”Ta = k, then the value of k is

o
a.0 b. 1 c.2 d. atb+c
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b b . . .
i=i=C+Ta=k6m>‘ﬂe;\) k-60T LDALILY

a.0 b.1 c.2 d. atb+c

194. The ratio of boys to girls in a class is 4 : 5. If the number of boys is 20, then the number of girls
IS

a. 15 b. 20 c.25 d. 26

€(H UGLILTN6L LDITEUITEUTSH6IT, LOMETIIQIWITSHET QNHHLD 4 : 5 LOMEBUIEUTSHET60T 6T6LOI6H0TIHEMS

20 6T6ofl6L LOM6TOIEULIIfl6T 6T6TOT6T8T&H605

a.15 b. 20 c. 25 d. 26
195. What happens in the reduction process?

a. loss of electrons b. gain of electrons
c. loss of hydrogen d. gain of oxygen

@065 eenearuiled SLp&E&EILQUMMIEL 616160 HSHLHAME)?

Sl. 6T6LSL_IT6sT @IPLIL ). TELSLT6HT eJ L]
Q. mamL e QLo FF. Sh&6r0IRem oL
196. Galena is the ore of which of the following metals?

a. Silver b. Lead c. Gold d. Iron

&6U6TTIT 6T60TLIGHI SLDSH&HETIIL UMD 2 616 61hG 2 Ceom&HSSletT &ITGILICILIT(E 612

3l. Qeueite o). SMIFWLD Q. HhIsLD F. @(pLbL
197. Which Act provided Provincial Autonomy to India?

a. Rowlatt Act —1919

b. Minto Morley Reform Act - 1909

c. The Government of India Act - 1935

d. Montagu — Chelmsford Reform Act - 1919

61hS FLLLD @hHmalme mheo WM& HHSMIHMS eUPRIGUIHI?

9. Qyemevl. &L L LD -1919
&), GG el FTHHSS FLL LD - 1909
8. @b ATEFMMHIS FLLLD - 1935

FF. LOMEICL @ Q&Werv..Cumi® FIHHSHHEF FLLID - 1919
198. Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar?
a. Amar Singh b. Kunwar Singh c. Pir Ali d. Imaduddin

1857-D  Yeui(p  HLESHHeT  CUTEH  SP&SEUL.  BUTSeiled  1Se&my Uy Suled
€2 (IH RIS MGUIILILITOTITS @\ (HHGeU[ WIT?
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Sl SILFHMR ). SHeoTeuny Flml . 197 o160 F. @& Seor

199. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he loses
10%. Find his gain or loss percent on the whole

a. Loss % = 90% b. Gain % = 5%

c. Loss % = 1% d. Loss % = 7%

A D&HE5qSTIRIGET 6R6lCUTETEMMIID Ch. 59 && cpheu] eNMHMMY. @euaimm)
almMSIL 10% @eoMLI(LPD MMEIEL 10% BLL (DD SIQUBHSHE JOULL G CLDTSHSSS6L
SUBSHSG FJOULL @6OMLLD 6L6VG HLL FHOTHLD SHT6T0Is.

Sl BLL &5 = 90% 9. Qeomu gHaiBHD = 5%

8. BLL 55D = 1% k. BLL B = 7%

(33)_2X2(2)_3

200. Simplify : 25 -x3-xaZ
a7 b. 7 c. 62 d. 6
9 8 8
s (39D)72x2(H)73
&®5@5'(24)—2x3—4x4—2
a. 7 b. 7 c. 6 d. 6
9 8 9
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